Fractions
Exercise 2B

solution 01

Answer :
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solution 02
Answer :

We have the following:
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solution 03
Answer:

We have the following:
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(vii) gof 54 m = (E ><54)m—{4@m =24m
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(xvjﬁoﬁL—ﬁofmUOml—(lODOx E) mi=(20 x 7)yml =140 ml

solution 04



Answer :
Cost of 1kg of apples = Rs 18% = Rs %
=~ Cost OTS% kg of apples = Rs (% X 3%)
“Rs (£ x £) - Rs (£22) = Rs 69

T Txl
Hence, the cost of 3% kg of apples is Rs 69.

solution 05
Answer :

Costoﬁmofcloth:deLQ% — Rs &

2 5
Hence, the cost 0f5% m of cloth is Rs 238.

2
= Cost 0f5% m of cloth =Rs (8—25 X 5%)
) 2x5

=Rs (ﬁxﬁ —Rs (8’”‘23) _ Rs (17 x 14) — Rs 238

solution 06

Answer:
Distance covered by the carin 1 h = 66% km
Distance covered by the carin 9 h =(66§ ® 9) km

(m xg)km= (mxg)k]n={20l]x3]km=600km

3 Jxl

Hence, the distance covered by the car in 9 h will be 600 km.

solution 07

. R
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Answer : & oy 3
Capacity of 1tin=123 L= L P Ny
- Capacity of 26 such tins =(26 xZ2)L ¢ N
{2 . 51 _ ((26x50) 1o ( 13%80 wafees ) 1 _ 1
'(TXT)L_( Txd )L_( 12 )Lor*:( 3 )L_3312 L
: D
Hence, 26 such tins can hold 331% L af oil. VS
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solution 08
ANSWer : .;. *)

Cost of 1 ticket = Rs 35 ;= Rs 7—;
= Cost of 308 tickets = Rs (% x 308) =

Hence, 308 tickets were sold for Rs 0,934,
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solution 09

Answer :

Thickness of 1 board = 3% cm

= Thickness of 9 boards = (Q * 3%) cm

=(%x%) cm = (3 x 11) em = 33 cm

Hence, the height of the stack is 33 cm.

solution 10
Answer :

Time taken by Rohit to complete one round of the circular park = 4% min = %min

=~ Time taken to complete 15 rounds = (15 X %) min

=(3 X 24) min
72 min
1h12min [~ 1hr =60 min]

Hence, Rohit will take 1 h 12 min to make 15 complete rounds of the circular park.



solution 11
Answer :

s

Weight of Amit = 35 kg

Weight of Kavita = % of Amit's weight
-35kgx 3 = (35>< g)kgz (7x3) kg — 21 kg

Hence, Kavita's weight is 21 kg.

solution 12

Answer:

Number of bays in the class = % of the total no. of students

:% xaz:(ﬁ’_‘;‘z)=5xﬁ=30

=~ Number of girls in the class =42 - 30 =12
Hence, there are 12 girls in the class.

solution 13

Answer :

Sapna's total monthly income = Rs 12000
Monthly expenditure = £ of Rs 12000

=Rs5 (% * 12{]0[])=R5 (T % 1500) = Rs 10500
~ Monthly savings = Rs 12000 - Rs 10500 /
=Rs 1500
Hence, Sapna deposits Rs 1500 in the bank every month. &
solution 14 (b
Answer : 4 \
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Side of the square field = 4% m

=~ Area of the square = (side)? s

(3 m)

Hence,

%

Solution 15

Answer :

Length of the rectangular pa% m=2Em

lts breadtn =182 m = £ m
~ Its area = length x breadth

_ (12 o 1Y 2
(125 )

3 5
=(25 x 31)m =775 m2

Hence, the area of the rectangular park is 775 m2.



